Sky TV
To get sky installed costs $200 and a further $50 per month thereafter.  Copy and complete the table for this information below:

	# Months (x)
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Now plot this information on a graph:


	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	


  



1) What is the equation of the line?

2) What does the y-intercept represent?

3) What does the gradient represent?

4) Use the graph to find how much SKY will have been paid in total after 8 months
5) Use the equation to find how much SKY will have been paid in total after 2 years (24 months)

6) A subscriber who has paid $400 in total has been with SKY for how many months?
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